Question Bank
ECONOMICS

UNIT-VII
HT—PIVY (Assertion-Reason) (01 Mark)

Answer Options 3@ f@&eq( (for all questions)
(A) Both A and R are true, and R is the correct explanation of A.

A 3R AT TEY E, 3R R, A T TE ATEAT R |
(B) Both A and R are true, but R is not the correct explanation of A.
A 3R GIAT TET €, afehet R, A T TET carear AT 8|
(C) A istrue, but R is false.
ATEN g, AfhaT R I B
(D) A is false, but R is true.
AT g, el R TET &

QUESTIONS-

1. Assertion (A): An increase in government spending leads to an increase in aggregate demand.
Reason (R): Government spending is a component of aggregate demand.

HAFYT (A): TWPR & IT H E(l_'c"ﬁ I Hehel AT (Aggregate Demand) & a‘?\ﬁT grdr
gl

FROT (R): TSR HT T Hhol AT HI Th Tch aIdT &l

2. Assertion (A): If Marginal Propensity to Consume (MPC) is 0.9, then an increase in income
by 21000 will lead to an increase in consumption by X900.
Reason (R): MPC is defined as the ratio of change in consumption to change in income.

HAFUT (A): I AT 3UHET ggia (MPC) 0.9 &, dr 3 #H 1000 S Jefer &
39T H 900 T Fefer graf|
FROT (R): MPC 3UHIT & gl 3R 3T # aRacisl &l 3Heurd gidr &

3. Assertion (A): In the short run, equilibrium output is determined where Aggregate Demand
equals Aggregate Supply.
Reason (R): In a Keynesian framework, price levels remain constant in the short run.

FAFYT (A): g 3G & HJoleT 3culeat agl TR giar & STeT Hevel HIIT (AD)
el 3MYfd (AS) & S gl gl
FROT (R): HIcHIA TOCHIIT &, oY Ia F Hed R FW BT Bl
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4. Assertion (A): A higher Marginal Propensity to Consume (MPC) leads to a higher investment
multiplier.
Reason (R): The value of the multiplier is given by 1/(1 - MPC).

AHAFYT (A): 310 FATT 37T wgfa (MPC) 3ifeh fager T (Investment
Multiplier) T 3R o ST &1
FROT (R): I[0Th (Multiplier) 3T AT 1/(1 - MPC) & &9 & f&ar Sirelm g

5. Assertion (A): In a fully employed economy, involuntary unemployment does not exist.
Reason (R): Full employment means zero unemployment in an economy.

HIAFYT (A): qOT USTaTX (Full Employment) aTell IedaedT # 3eAcoed sRISTILT
(Involuntary Unemployment) sTgl @it
FROT (R): Q0T VSO & 37 § & rdegaear & SU@md = g &l

6. Assertion (A): When there is deficient demand in the economy, the government should
increase its spending.
Reason (R): Increased government expenditure raises aggregate demand.

HAFUF (A): ST 31TIgEAT F 39T AT (Deficient Demand) BT g, A7 TIHR I
9 JT A Jefd HA AfeT|
FROT (R): THNT T H aﬁ d Hahdl AT (Aggregate Demand) & qa’ﬁT g gl

7. Assertion (A): The sum of Marginal Propensity to Consume (MPC) and Marginal Propensity
to Save (MPS) is always equal to 1.
Reason (R): Any change in income is either consumed or saved.

HAFYA (A): AT 39T Jgfd (MPC) 3R AT s&rcd Tgfd (MPS) & IaT gARMm
1% SR 8iar gl
HROT (R): 31T H s Y IRAdT AT A 3T fhar Sar § I1 samar Srar g

8. Assertion (A): As income increases, the Average Propensity to Consume (APC) decreases.
Reason (R): People tend to save a larger portion of their additional income.

HAFYT (A): S-S 3T el 8, AT IUHET 9T (APC) Teal Bl
FROT (R): AT 39T TARFT 3T T 3T BEAT AT 9T &

9. Assertion (A): A higher investment multiplier leads to a greater increase in output.
Reason (R): The investment multiplier amplifies the initial increase in investment through
multiple rounds of spending.

AHAFYT (A): 3% fAqer 0T (Investment Multiplier) q 3cued H HfAH ELAR)
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gicll &
FROT (R): AU 0T TRIAS AU Fef I HS Thi & oIl ¢

10. Assertion (A): Full employment is always maintained in an economy.
Reason (R): Business cycles cause fluctuations in employment levels.

HAFYT (A): 3riegaedyr & gAM YOt USIN &=11 @l B
$RUT (R): SYTYR °sh (Business Cycle) UsHIR TR H 3AR-UGA Hl HRUT dold &l

11. Assertion (A): An inflationary gap occurs when aggregate demand exceeds aggregate supply

at full employment.
Reason (R): Inflationary pressures arise due to excessive demand in the economy.

AHAFAT (A): ﬂ?{l?cﬁﬁm 37cRTel (Inflationary Gap) A& 3cdeel Bl & Sie Q;U‘r
AR TR Fhel HIT, Tehel M & 31f0F gl #
FROT (R): 3cATH AT & HROT IeTaeqT & HEHId HT gaTd 3cdow Biel &

12. Assertion (A): The central bank reduces the money supply to control inflation.
Reason (R): A lower money supply reduces aggregate demand, thereby controlling inflation.

HAFYT (A): FET S FoEhifa B AT et & T Fgar sngicd A war e
gl
FROT (R): HaT AT # HAT & Feho! AT T &, forwd gaehifa @&y g g

13. Assertion (A): Demand deficient unemployment occurs when there is not enough demand

for goods and services.
Reason (R): This type of unemployment can be reduced by increasing government spending.

HAFYA (A): AT F FHAT & HROT glod dTell sRISEINT (Demand Deficient
Unemployment) s 8l § oI§ a?ﬂiiﬁ 3R Qansit i Al AT gar B
HROT (R): 3H YHR I sRISIRT I ISR T T FA fRAT ST FehaT B

14. Assertion (A): An increase in aggregate demand beyond full employment causes an increase

in interest rates.
Reason (R): High demand for credit raises the cost of borrowing.

HAFYT (A): U7 AT & 310 Hehel HIT gl W AT &Y §¢ ATl g
FROT (R): KUT HT 3T AT, 3URT T dIETT & g7 aT gl
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15. Assertion (A): Increasing taxes can help in reducing excess demand in an economy.
Reason (R): Higher taxes reduce disposable income and consumption.

HAFYT (A): HU # IS0 A 3rcAfF Al A FA AT 51 Fhr B
FRUT (R): 3 T & IYHFARBT HT TT TPT AT FH 8ldT &, orad 3TeTeT
Tedr gl

ggldmodIg 797 (Multiple-choice Questions) (01 Mark)

Q1. Which of the following is not a component of Aggregate Demand (AD)?

fFAfaf@a & & &l a1 THT AT (AD) FT GCh a1 87
A) Private Consumption Expenditure (C) / sl 3usier g (©)
B) Private Investment Expenditure (I) / fasi faaer o (1)
C) Government Transfer Payments / TXhRT 30T STdTcTeT
D) Net Exports (X - M) / 8T el (X - M)

Q2. The investment demand curve slopes downward due to:

fader AT g A A IR T HAT & FAIh:
A) Rising Marginal Efficiency of Capital / lT\I:\fo $r AT & dodl &
B) Decreasing Interest Rate / &IToT &3 €cal g

C) Increasing Cost of Production / 3c9TcsT oIeTd Sl g
D) Constant Return on Investment / faer o¥ &R gfawer fAerar &

Q3. If autonomous investment increases by ¥100 crores and the MPC is 0.8, the total increase in
income using the multiplier formula will be:

Ife TadaT AL 2100 I3 doc & 3R AATT 3User Jgid (MPC) 0.8 8, I[uTeh
¥ & AJAR FI 3T A Jefar gef:

A) %400 crores

B) 3500 crores

C) T800 crores

D) %1000 crores

Q4. If the Marginal Propensity to Save (MPS) is 0.25, what will be the Marginal Propensity to
Consume (MPC)?

Ife, AT 9T I (MPS) 0.25 &, o HAT 3T IgiT (MPC) et giefr?
A) 0.50
B) 0.75

C) 1.00
D) 0.25
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Q5. The slope of the Consumption Function represents:
3UHNT BoAd &l ST et gfafafca sar g2

A) Average Propensity to Consume (APC) / 3 39311eT ‘;l_cg"%

B) Marginal Propensity to Consume (MPC) / HHTT 3THT qﬁlﬁ
C) Marginal Propensity to Save (MPS) / @Y ad qaﬁr
D) Investment Multiplier / faiaer a0Teh

Q6. The short-run equilibrium in an economy occurs when:
euehifeleh HcJolel o WICT BT § Sfel:

A) Aggregate Supply (AS) > Aggregate Demand (AD) / HHI Hm‘ﬁ (AS) > GHIT Al
(AD)

B) Aggregate Supply (AS) < Aggregate Demand (AD) / §HI Hm‘ﬁ (AS) < gHIT HaT
(AD)

C) Aggregate Supply (AS) = Aggregate Demand (AD) / GHI 3-11'{% (AS) =T&HIT HaT
(AD)

D) None of the above / 3WRIFT H H HIg gl

Q7. If the investment multiplier is 4, what is the value of MPC?
gfe AL I[OTR 4 &, A MPC T HIeT FAT gHI?

A)0.25
B) 0.50
C)0.75
D) 1.00
Q8. Which of the following statements is true regarding the investment multiplier?

fArfaf@d & @ ol a1 wue fFder ok & det & T &2
A) It works only in a closed economy / Tg hdel d¢ JNIeTaTAT H HF HIAT ¢
B) It depends on the Marginal Propensity to Consume (MPC) / g THIT 39T EIT{%
(MPC) WX f¥#X &XcT &
C) It is always greater than 5 / Ig EﬁQIT 59 3+ Eﬂ?ﬂ %’
D) It has no effect on national income / SHe&T TSI 3T W aﬁ's" UHTT Al 9sSdr

Q9. Full employment means:

quT Al &7 dlead §:
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A) No person in the economy is unemployed / Jqcgaear A Eﬁl’é’ Y SRISIR &l &

B) All available resources are fully utilized / T 39T FATAT T EI'\USr 39197 g @1
3

C) There is no disguised unemployment / gﬂﬁ gé SASTIRY =gl gl

D) There is zero natural unemployment / qlfm SUSTITRT AT g g

Q10. Involuntary unemployment occurs when:

IARo® ISR d9 gidl & ST
A) People voluntarily choose not to work / &19T TATST H HIH el hld

B) People are willing to work but cannot find jobs / &9 &hIH HIAT ATEd & olfchel 3og
oAlndT oTel fAerc

C) There is no unemployment in the economy / 3T Jegaear & aﬁé RIS 18T &

D) Only seasonal workers are unemployed / shdel HIFHT AP SRISEIR 81 &

Q11. Which of the following is a consequence of excess demand?

HRAAT HIIT FT Hle AT IROTH &Y Fhl 57
A) Inflation / Wﬁ
B) Unemployment / SRISTITRT
C) Decrease in National Income / IS¢ 3T #H FRm@ae

D) Reduction in Aggregate Demand / THIT T H T
Q12. Deficient demand leads to:

AT HT F FAT FAT 87
A) Rising Prices / Gl hTedd
B) Unemployment / SRISTITRT
C) Demand-Pull Inflation / #TIT IR 'ﬂ?\ﬂ:‘ﬁﬁf
D) Excess Production / 3f8RIY 3cqrgeT

Q13. Which of the following fiscal policies can correct excess demand?

HIERAY AT A S A & AT A & TarpNT AfS 3r9a18 57 Fhelr B2
A) Increase in Government Spending / EXhRI eI H E(l-'c"ﬁ
B) Increase in Taxes / T & El?(ﬁT
C) Reduction in Interest Rate / $TToT &I H el
D) Increase in Money Supply / gl 3-1ch;% H E@'ﬁT
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fafRga Sai¥lg g97 (One word/definite answer questions (01 Mark)

. GHI AT H FIH 3T Uceh sl AT gl 872
What is the largest component of aggregate demand?

2. 9 F A GARISI a1 SITem §, @ lsT |1 A9 s g gar &2
Which component of demand is affected when taxes are adjusted?

3. 9w =g @1 Ay HuRe sl @ g
What is the main determinant of investment expenditure?

4. TG 39T I F&T ¢, dl FHF ART W FIT JATT Y12

What will be the effect on aggregate demand if consumption expenditure increases?

5. WIHR SaRT Yelel HT ST arell a&cg3it 3R Qansit W fhe 90 77 1 F41 FHgd
87
What is the expenditure on goods and services provided by the government called?

6. HET 39T Ugid (APC) T FF T &7
What is the formula for Average Propensity to Consume (APC)?

7. Ife WA IUHET ggid (MPC) 0.75 8, @ AT S Fgd (MPS) F41 g

If the Marginal Propensity to Consume (MPC) is 0.75, what will be the Marginal Propensity
to Save (MPS)?

8. T 3T Hr FEATT H IUHET AT &A1 FHgl STl &7
What is consumption expenditure called when income is zero?
9. 3YNT ygi 3R ST YT 1 AETHe HAT fehcel glam g2
What is always the sum of the propensity to consume and the propensity to save?
10. IfE APC > 1§, dl ST &l T 4T §Iamm?
If APC > 1, what will be the level of savings?
11. o 3af & Holel T T 31T FURT Fe arer Fetenor &1 §?
What is the equation that determines the equilibrium level of income in the short run?
12. faaer qUTeh (Investment Multiplier) T HF 4T g7

What is the formula for the investment multiplier?
13. Ffe MPS 0.2, dl fAder [ureh &1 Al &1 gm?

If MPS is 0.2, what will be the value of the investment multiplier?
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14.

15.

16.

17.

18.

19.

20.

Ql.

Q2.

Q3.

Q4.

Holel 3 &1 fAeRor o gfSeentor @ fhar Sirar g2
From which approach is equilibrium income determined?
gig MPC gl &, al fder q[ureh o a7 J8i1d ggam?

If MPC increases, what will be the effect on the investment multiplier?

Se icHaEdr e T FATYAT T qUT 3R F W@ @ &, A sH FAT Fg
ST 872

What is it called when an economy is making full use of all its resources?

HAE HE A b TTOD &, Afehel T &1 SR T T @, S8 FAT gl STl 8?2
What is it called when workers are willing to work but still cannot find a job?

e | AT IAfs ¢ S, aF 38 1 Fd o7

What is it called when aggregate demand increases excessively?

Ife @I AT e @I ST, ar 39 F1 FEd 82

What is it called when aggregate demand falls excessively?

WHR I A et Hich hd TR T FHAEAT H §ol T Hebhell o7

By increasing taxes, which type of problem can the government solve?

o’y Fcivlg g97 (Short answer questions (02 Marks)

T FITaEdT A fAA I d¢e1 W GHI AT H FIT GHG Y392 IMF aigd
ST H|

What will be the impact on Aggregate Demand if investment expenditure increases in an
economy? Explain with a graph.

i frdl FIcTaedr H WHR 397 T HT §aT &l &, dl FHIT AT U 1
T Y92 38 AD-AS HASel & HATEIH & FHST|

If the government increases its expenditure in an economy, what will be the effect on
Aggregate Demand? Explain using the AD-AS model.

gfe HFT 3UHET Jgid (APC) 0.8 &, at 3N sad Ygf (APS) fohefelr g1efr? 3ugere
T AT 94T |

If the Average Propensity to Consume (APC) is 0.8, what will be the Average Propensity to
Save (APS)? Use the appropriate formula.

Ifg farely srdcaaear & dAid 39T SgRy (MPC) 324 gidr &, df sHer foaer
auTeh (Investment Multiplier) 9 &T 9&ITq q3a?
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If the Marginal Propensity to Consume (MPC) is high in an economy, what will be its impact
on the Investment Multiplier?

Q5. Ueh I¥caedr # YRIAS 3 21000 5 § 3R faer & 1100 U5 Hr gefor gieir
gl Ife MPC =0.75§, ar 3ifas 3 TR Fr J0ET S

In an economy, the initial income is T1000 crores, and investment increases by X100 crores. If
MPC = 0.75, calculate the final level of income.

Q6. TFET rfcgarar & g UTeh (Investment Multiplier) 5 g1 ST AT STHET
9gfd (MPC) ATd FIfsi?

An economy has an Investment Multiplier of 5. What does this imply about the Marginal
Propensity to Consume (MPC)?

Q7. afg el 3rdegaedr & 3curget & R qUT VSl & A ¢, dl FHHT FHI HIT
W FIT GHG 9392

If the level of output in an economy is below full employment, what will be its impact on
Aggregate Demand?

Q8. T AT HT FHATAT Fd 3o Bl &7 39 AS-AD HAisd & FeaT H TS
ETy
When does the problem of Involuntary Unemployment arise? Explain in the context of the
AS-AD model.

Q9. Ife fardlt 3rdcuarar & 3% AT I TALAT 3ce gl §, aF FeT d& 3@
RIRT o & T dia-ala @ \ifges 3uT 37941 Ghar g2

If an economy faces the problem of Excess Demand, what monetary measures can the central

bank take to control it?
Q10. TXFHR SaRT I Hl d¢led T HHI AT W FIT JHT TSI 3 ATH SaRT FISC

FI

What will be the impact of increasing taxes by the government on Aggregate Demand?

Explain using a graph.
Ql1. Ife Tordr rdfegaeyr & AT 39T Ygid (MPC) 38 g1, o f¥aer ajore &
T TG Y32 39 oI Aigd HASST|

If the Marginal Propensity to Consume (MPC) is high in an economy, what will be its impact
on the Investment Multiplier? Explain with reasoning.

Q12. A ey 3rdfcaaear # HfAReFa AT i FTHEI 3cUeT g A0, o HaEdIfd
FIAT THTT YS9 &G H JASSU|

If an economy faces the problem of Excess Demand, what will be its impact on Inflation?
Explain briefly.
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Q13. Ife el 3rdfegaeyr & MPC = 0.9 8, Al T3 I[0Teh T Al FIT g

If an economy has MPC = 0.9, what will be the value of the Investment Multiplier?
Q14. T TIHR Fel FRA &l A Y &l &, SHHT YoNd AT AN R Fel Scdrea

W HY g9

If the government reduces Total Taxes, how will it affect Aggregate Demand and Total
Output?

Q15. A fordlr 3rdfeaaear # sod & Ygfa a6 S &, sHel THa foder aureh
Far grem?

If an economy experiences an increase in Saving Propensity, how will it affect the Investment
Multiplier?

Q16. AS-AD HISel & 3TAR, Ife fohell rdfegaedr # HfAaRed ANT 3cdeet &1 Sl &,
oY SEHT HEFHITT I FAT JeTT TSam?

According to the AS-AD model, if an economy faces Excess Demand, what will be its impact
on Inflation?

Q7. THR & R H Jefdh & Yo7d ol FHIA AT AR A3 ot & Hest A
SEEIELY

Explain the impact of increased Taxes in the context of Aggregate Demand and the
Investment Multiplier.

Q18. I FT dF AT & T ST &, A SHHT THA HAier 3R [T =77 W Far
EEICRCEDIN

If the central bank increases the Interest Rate, what will be its impact on Aggregate Demand
and Investment Expenditure?

Q19. T TFR 39 oI & efd X IR FAT S <A X uel ¢, o Jrdfegaedm A
3cqTea 3R VSRIR TR 9 FAT Y1d YSIm?

If the government increases its expenditure and the central bank lowers the interest rate, what
will be the impact on Output and Employment Levels?

Q20. IfE THFR 39 TR T & FIRT i & v g7 & Feldy axdr &, ar
sHPT T GHIT A 3R s [y w FF gsam?

If the government reduces its Fiscal Deficit by cutting expenditure, how will it impact
Aggregate Demand and Economic Growth?
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g IarvIg F97 (Short answer questions (03 Marks)

Q1. |HIF AT T (Aggregate Demand Curve) F STU IT GV SGolld & THTTAA HRUN T
faeeyor RIfST| IUFFd INW Z@RT FTASC FHITSAT|

Analyse the possible reasons for a leftward or rightward shift in the Aggregate Demand
curve. Explain with a suitable diagram.

Q2. S 3UNT =TT # Fefe gicl &, ot THI AT W ST AT THT T2 SHeT
SITEAT F|

If there is an increase in consumption expenditure, what will be its impact on aggregate
demand? Explain.

Q3. 3UNHIEFAT =T 3R A aT S HHT AT & °TSh g1 FAT ST T JHT
AcTIEAT W TAT gl &2 dhded 3R &

Both consumption expenditure and investment expenditure are components of aggregate
demand. Do they have the same impact on the economy? Justify your answer.

Q4. If¢ 3irad U Ygfd (APC) 3T §, A SHeRT relenicleh JHTd HFeqaedr ©
FIT g TASC ISV

If the Average Propensity to Consume (APC) is high, what will be its long-term impact on the
economy? Explain.

Q5. HIATT 39l ygfad (MPC) 3R AT = 9gid (MPS) & o Heer Sl HEAcHS
3CTEUT GaRT Es¢ HIfav|

Explain the relationship between the Marginal Propensity to Consume (MPC) and the
Marginal Propensity to Save (MPS) with a numerical example.

Q6. R H el dhr AT 39T ygid (APC) fahfad it T Jof=r & 318 gl &
AT HROT T faeeyor Hifsv]

Analyse the possible reasons why the Average Propensity to Consume (APC) is higher in
India compared to developed countries.

Q7. Ife A 0T (Investment Multiplier) ST HIeT 58 3R 32w & 100 U3 & gefer
BT &, Tl Teerr 3 faheedt ageist? arorer il

If the value of the investment multiplier is 5 and there is an increase in investment by <100
crores, how much will the equilibrium national income change? Calculate.

Q8. TE-3aT™ HJolel 3cutest (Short-run Equilibrium Output) fohe REUfer & gree gl 82
sge fAurer fr [/ = 3m@ afika gasmsU)
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Under what condition is short-run equilibrium output achieved? Explain the method of its
determination with a diagram.

QI. TAT 39T Ygf )MPC) AR fAARr [0TR )Multiplier) & e Heer &l sarEdm w1 Ife
MPC = 0.9 81, dl fder J[0Teh &1 AT fohclall gI9m? 3uYeFd 0T Aigd THSATST|

Explain the relationship between Marginal Propensity to Consume (MPC) and the Investment

Multiplier. If MPC = 0.9, what will be the value of the investment multiplier? Explain with appropriate
calculation.

Q10. YT VST (Full Employment) &7 3TURUT &1 3 &A1 82 AT SHAN dledd Lo
RIS § 82 d% Figd 3/ G|

What is the concept of full employment? Does it imply zero unemployment? Justify your
answer.

Ql1. 3=fTeed sRISEIRY (Involuntary Unemployment) & 97y FRUN FI ggaid HIfAT
3R 3§ HGROT & U ST

Identify the major causes of involuntary unemployment and suggest measures to redress it.
Q12. TG THR SN g A & foIT THRT T a1 & &, Al IHTeqqEAT

$Hd Sl THTaT &1 Hedidd |

If the government increases public expenditure to reduce unemployment, evaluate its long-

term effects on the economy.

Q13. afg 3rdfcgarar & 3= Al (Excess Demand) T TATAT 3c9eo1 Bldl g, dl 5%
YW TS F] g gHSST|
If the economy faces the problem of excess demand, what will be its major effects? Explain.
Q14. ATAAY AT (Excess Demand) 3R 3T9ATcT AT (Deficient Demand) & T qeg

IR @l GRONGEY §T H G A

Present the key differences between excess demand and deficient demand in a tabular format.
Q15. T JThNIT Afd (Fiscal Policy) 3iR #ifgeh sifa (Monetary Policy) &t H’{I}H T

O g fhar ST Tl § arfeh 318 Alar 3R rodicd AT T FAEAT3M @1

AT T ST Heh? SATEaT S|

Can fiscal and monetary policy be used together to resolve the problems of excess and
deficient demand? Explain.

Q16. ST 3¥cgarAT H fAAY HT T FATIT 3cTeT gldT &, A WPR Hid-PlT &
T 39T (Fiscal Measures) 37917 Hehall 7

What fiscal measures can the government adopt when there is a problem of excess demand in
the economy?
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Q17. FifgE AT (Monetary Policy) & fohegl &l 3UTAl I FHSNST ST IIATCA FHIaT
(Deficient Demand) T HHEAT Pl §oT el H TgIP 8l ol

Explain any two monetary policy measures that help in resolving the problem of deficient
demand.

Q18. 34T &X (Repo Rate) HR #ehe HRTETA 3Tl (CRR) H IRacieT &1 3if8eh &l 3R
qATeg AT Y AT 9T FA1 99g ysar g2 3T g gfea 39¢ &

How do changes in the repo rate and cash reserve ratio (CRR) impact situations of excess
demand and deficient demand? Answer with proper reasoning.

Q19. ISt I (Fiscal Policy) 31R #Hifge #ifd (Monetary Policy) ST TaIstel
HITTEAT H AT gl & AU FA7 3aeTH g2 361eX0T digd TISC Y|

Why is a combination of fiscal and monetary policy necessary for demand management in an
economy? Explain with examples.

Q20. 90T AR 3R oo SRUISERT T IaURUT T egrear w| 47 fHar sdfegasar &
W@g@sﬂ@ﬂwﬁm g2 3Uged 3eme0T Higd 3 S|

Explain the concepts of Full Employment and Involuntary Unemployment. Is it possible for an

economy to have full employment despite the presence of unemployment? Answer with suitable
examples.

§7e Icavig 97 (Long answer questions (05Marks)

Q 1. How does an increase in aggregate demand impact the equilibrium level of income and
output in an economy? Use an appropriate diagram to support your answer.

ol HTT # Gt srefeqaar & dqeia &a¥ #I A4 3R 3cqiaeT & Hd geIfad
FXcA 87 39e1 IO I Ve 3GYFT NG GART HAMST |

Q 2. Evaluate the role of government expenditure as a component of aggregate demand in an

economy facing recession. Should the government increase or decrease its spending? Justify
your answer.

HET FT GIHAT HE I8 FUSTTEIT H HHel HITT & TF b & &T H TNHRT STT
PI HIAPT T Holehol FY/| FIT EXDBR @l 3T FF FelT T I elal
TIR® Y 37 & 3fIT 3eT/

Q3. A country experiences a rise in investment and a fall in government spending simultaneously.
Analyze the likely impact on aggregate demand and equilibrium output.
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v g H fAder H gefer 3N TRPRT SFF H HH U G Gl §1 Hhel HIT IR
Hgoled 3cqiael QY HHTIAT G37d &7 3090 &Y/

Q 4. How does the marginal propensity to consume (MPC) influence the size of the investment
multiplier? Explain with the help of a numerical example.

HAIT 393197 gfad (MPC) f7der ure & bR & &d FHIAT @A 67 T
TEIIHF 3GTeN0T &1 FErIar & JHST/

Q S. “An increase in savings is always beneficial for economic growth.” Evaluate this statement
in the context of the paradox of thrift.

"FET H GETEr FHAUT IS AT @ [T GIHFRT I 61" 56 FUA T e
fRIEITSTET (Paradox of Thrift) & HG# H HedleheT &7/

Q 6. The economy of country X is experiencing a decline in investment spending. Using the
concept of the investment multiplier, analyze how this decline will affect national income.

&or X @I refeqaear # fAder eqg # fNrae adt ST et 81 fAder i i
HFEIRUIT FT 39T NG [G9e90T F & Jg fIR1Ge I8 31T & 8 g3faT
#Haf

Q 7. Draw and explain how an increase in investment shifts the aggregate demand curve and leads

to a new equilibrium output.

U IRG FoAZT IR HAFIST [ fAde H FETe fd qehR Hehel Aol a
EIAITRT XAl & IR AT deted 3cqiger I 3N o St &1

Q 8. Is it possible to achieve full employment in a capitalist economy? Discuss with appropriate
arguments.

Q. FIT YSfiaral refeqarer # quf ISR GIe #x=71 "I §? 3faa a@l & &rer
ol #Y/

Q9. How does excess demand lead to inflationary pressure in an economy? Explain with a
diagram.

JTERI HITT 3r¥fegawar # FErEIT @ oI e 3cded FXA 87 UF IRG

GART HAFZT/

Q10. Critically evaluate the effectiveness of monetary policy in controlling excess demand.

FIfErRIy AT F [FIRT #¥a # Afged A FI GHTRATT FT el ToAlcHS
HodHaT &/

Q 11. A developing country is experiencing severe unemployment due to a lack of investment.
Recommend fiscal policy measures to address the issue.
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U fasraefier &or fAaer &I HH & HRUT THN RISTTIRT T FIHAT F 6T 81 3H
HHEIT FI G7 el & [0 ITHINT aAifd @ 39T G0

Q 12. How does an increase in direct taxes affect aggregate demand and short-run equilibrium output?
Explain with a diagram.

qogg7 #XI H Gefer Fehel HiTT JN FdeqFIlcid ddele 3cdlae d Hd FHIIET XA & Th
IR FIRT HHHATST/

Q13. Evaluate the role of public expenditure in correcting the problem of deficient demand in an

economy. Can excessive government spending create new economic problems?
srefeqaeer # 3rqul HioT HI FHEAT F Bl @xet H HdSlAd T FI HABT FT Hodlbel
N/ FIT JTOF RN eIT 735 1 FHEIIT 3c9eed F FHAT &?

Q 14. An economy is facing high inflation due to excess demand. The government is considering two

policies: (i) increasing interest rates or (ii) reducing government spending. Analyze the impact of both
policies and recommend which would be more effective.

T IfITEUT TR HIT 3 HRUT 3ee HARFHNT HT FHAA F ) &1 TP Gl Afaar
¥ [dar &7 IET &) i) SFIST &Y F@TAT AT )i) TNPRT ST FHH I/ Gledl Alddl @ g3rar
P [Feclor & 3N geAia & 13 FT o i gHrdt 819

Q 15. Q. Design a policy framework for a government facing involuntary unemployment due to deficient

demand. Your framework should include fiscal and monetary policy measures along with their
expected impact on aggregate demand.

UF BN & [0 AT FRET IR #5717 3q0f HIT & HROT elfeas SRISEIRT #T
HIHAT FX @ 81 96T FG@T H T 3 Afas Afa 397 arfAer gla aifeT JR
3THT FHel HIT G HOET THIT TAST/

Case Study Based Questions

Case Study 1:

R THR o HITds-19 HEEART & dlg HITTELT A Yeoiiidd A & v a3 dam=
W HIdelfeeh oA Rl TAR A HaadasT aRASE3T 7 Haer serm, ed #sigl
3R ASHIR # Jef& g91 38N 3T <qg o, [T FHAF AT (Fehel FHIN) Y qe
e g, AeEm & e st Aoy (Fsh @awr oow) & frae 3 o 59
Jeled & ToIT TSR o sATST &1 A Heldr |

After the COVID-19 pandemic, the Indian government undertook large-scale public expenditure

to revive the economy. Investment in infrastructure projects increased, leading to higher wages
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and employment. This boosted consumer spending, strengthening aggregate demand. However,
private investment had declined during the pandemic, prompting the government to cut interest
rates to stimulate it.

Questions (F?WT)

1. (2 Marks) Explain how an increase in government expenditure affects aggregate
demand and its components.

(2 3(%F) TEHR & T # e waha AT AR 30F gl A F@ gy Fd

¢, §ATTEU
2. (1 Mark) What are the four components of aggregate demand?
(1 37%) AT HANT F IR Geh Hid-HiT T &2
3. (1 Mark) How does a fall in interest rates impact investment expenditure?

(137%) SO &0 # Rmge @ar g ) F/ wnfad wd 82

4. (1 Mark) If marginal propensity to consume is 0.75, what is the investment
multiplier?

(1 3%) Ifg i sgaer ggfr (MPC) 0.75 8, @ fAawr O (investment
multiplier) ST #ATT FIT gEM?

Case Study 2:

T Hr Af@s 3T 250,000 &, TTGH @ I8 340,000 TT FAT § 3R AY ST T g
BTl &1 &, TWHR of T & dheldl T foad I i 3T dea 260,000 g TS| 3T a8

348,000 T AT § 3R AY §9d FAT gl

Ravi earns 50,000 per month, out of which he spends 340,000 and saves the rest. Recently, the
government reduced taxes, increasing Ravi’s income to 360,000. Now, he spends 348,000 and
saves the rest.

Questions (F?T)

1. (2 Marks) Calculate Ravi's average propensity to consume (APC) before and after
the income change.

(2 37%) 3T IRTAT & gga AR ag F W i sitwa swhr wgfy (APC) Hi
T HifST]

2. (1 Mark) Define marginal propensity to consume (MPC) and marginal propensity to
save (MPS).
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(1 37%) "t 3w ygfa (MPC) AR derra a9 wgfa (Mps) #r aRenfa
ffaT]

3. (1 Mark) How does an increase in income affect APC and APS?
(1 3(%F) 3T & g &1 APC 3N 39T ygf) AR APS (3iaa s wgf)
R FIAT AT 93T g2

4. (1 Mark) If MPC is 0.8, what will be the value of MPS?
(1 37%) IfE MPC = 0.8 &, @Y MPS T #AT FAT grm?

Case Study 3:
Short-run Equilibrium Output and Investment Multiplier

U Fdcggeem # Fel AT 2200 FUS T T 300 S & ST &1 $HH FHel
3culest 3R 3T H 500 FAS I gefdr gie g1 rdenferat &1 A g 6 @
aUTeh (investment multiplier) % HRUT Jg IRadsT g3t gl

In an economy, total investment rises from X200 crores to 300 crores. As a result, total output
and income increase by Y500 crores. Economists believe this change occurred due to the
investment multiplier effect.

Questions ()

1. (2 Marks) Calculate the value of the investment multiplier. Also, determine the MPC
of the economy.

(2 37h) faaer 0T (investment multiplier) T HTel AT ST 3R srdfeuaear
&1 MPC i@ fifaw)

2. (1 Mark) What is the formula for the investment multiplier?
(1 37%) faaer 0T (investment multiplier) T I F4AT 82

3. (1 Mark) How does a higher MPC impact the investment multiplier?
(1 37%) AfF MPC @der qurE F HFF g Far &2

4. (1 Mark) What will happen to equilibrium output if autonomous investment
increases?

(1 3/%) Ife Farga fAAer (autonomous investment) TEAT g ar H@ﬂﬂ' 3c4Tcel U
FIT IHTT Y32
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Case Study 4:
Full Employment and Involuntary Unemployment

AT T GRITET gollfler &, fehed 3@ 3TN AT & IR Al w8 A &
¢l ol 3R, 7l A Fo W@ &9 o § S I A F 3wAEY § R e Aw
o g1 I8 aRFEfa qof deemr 3R seifRos SRisemd & aaear 1 qard gl

Neeraj is a trained engineer but is unable to find a job that matches his qualifications. On the other
hand, some people in the village are incapable of working yet are considered unemployed. This
situation highlights the issues of full employment and involuntary unemployment.

Questions (F?T)

1. (2 Marks) Differentiate between full employment and involuntary unemployment
with examples.

2 3%) ToF PR 3R IefRes Rl F & 3R FTase Afifaw it eI
i

2. (1 Mark) What is the natural rate of unemployment?
(1 37%) WIFfaF SRS e 47 gt 82

3. (1 Mark) Name two types of unemployment in an economy.
(1 37%) F4eTaTyT H IS F & YFR Fid-wiT F &2

4. (1 Mark) Why is involuntary unemployment considered a problem in
macroeconomics?

(1 37%) ITod ISR F FATSE JAARA (macroeconomics) H THATIT FAT
AT ST 82
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